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MB-8 SEAFR SHDENELL |UMI|1,210| 267 | 80 |— MB-180 |H#F&FK—-I | HxZ CRM| 1,090 | 153 | 90 |AB
75~NT773U— |WFF|1,250| 274 ——F NNA| 1,090 | 153
#5852 WSS| 1,260 | 271 E7v b PIT | 1,090 | 153
#5452 |WSSP| 1,260 | 272 MB-220 | &Hit#= EAPS KUS| 410| 129 | 160 | —
#54524T0— |WSSY| 1,260 | 273 BAK TUS| 410/ 129
MB-22 | &8 FA%K KUS| 580| 129 | 160 |AB MB-225 | it#HiZE EAAP S KUS| 350| 129 | 160 | —
BAK TUS| 580 129 MB-227 | it ER% KUS| 430| 128 | 160 | —
MB-25 | it EXAPS KUS| 540| 129 | 140 |AB MB-228 | i+HiE 2Rk KUS| 410 128 | 260 | —
MB-27 | i+ =F S KUS| 630| 128 | 130 |AB MB-230 | £ JzU—Fz FEL | 1,050 | 127 | 120 |AB
MB-28 | i+#i EAAES KUS| 600| 128 | 130 |AB TE/|NET HMT| 1,050 | 127
MB-50 | /Igk HU7 CAR| 880| 156 | 120 |AB = KNA| 1,050 | 127
ABE FA | 910/ 156 MB-232 | 8 #i Jz)—Fz FEL | 1,070 | 125 | 100 |AB
J1)—>7L>K | GF | 900| 270 TE/INET HMT|1,070| 125
xE HNE| 900| 156 = KNA| 1,070 | 125
Y- SER| 890 | 155 MB-233 | A= JzU—Fz FEL | 920 (51715 160 | —
®IE YUK| 900| 155 TE/INET HMT| 920 1512715
MB-51 | /INkE BT CAR| 780 156 | 120 | — = KNA| 920 (151715
JU—->7L2R | GF | 790 270 MB-234 | fi#i J1)—Fz FEL | 1,150 | 123 | 100 |AB
EE HNE| 760| 156 TE/INET HMT|[1,150| 123
Y- SER| 780 155 = KNA|1,150 | 123
&It YUK| 790| 155 MB-235 | BR#i = JzU—Fz FEL| 980| 123 | 120 | —
RAHE HU7 CAR| 780| 152 TE/NET HMT| 980! 123
VLTS HKz| 810 152 = KNA| 980 123
BE HNE| 760 |152+253 MB-236 | 8R4 J)—Fz FEL |1,280| 121 | 80 |AB
FFa— LNA| 780 152 TE/|NET HMT | 1,280 | 121
Y- SER| 780 152 = KNA|1,280 | 121
&It YUK| 790 152 MB-237 | A= JzU—Fz FEL | 1,070 [121+151| 120 | —
MB-76 | 7@ RRE GUK| 730|129 | 160 |AB TE/INET HMT | 1,070 |121 151
BRE TUK| 730| 129 = KNA| 1,070 [121 151
BAK TUS| 730 129 MB-238 | £ JzU—Fz FEL | 1,430| 120 | 90 |AB
MB-77 | iHiE BRRE GUK| 550 129 | 240 | — TE/|NET HMT | 1,430 120
BRE TUK| 550/ 129 = KNA | 1,430 | 120
A AES TUS| 550 129 MB-239 | ZHtiE Jr)—Fz FEL | 1,210| 120 | 80 | —
MB-84 | X—7FK— |I—YaAL>Y | RO [1,200] 149 | 60 | A TE/INET HMT|[1,210| 120
Bk WUSK| 1,200 | 149 = KNA|1,210| 120
MB-85 | A—7HK—IE |I—TaFL>Y | RO| 890 149 | 120 | — MB-258 | /Igk Jr)—Fz FEL | 1,020 | 159 | 160 |AB
B SAK| 890 | 149 TE/INET HMT | 1,020 | 159
MB-101 | %h R eRHE=E JUY—->TJLPR | GF | 540 270 | 200 | — = KNA | 1,020 | 159
75~N773)— |WFF| 550 274 MB-260 | /& AB+E EMKT| 1,040 | 155 | 120 |AB
$54-52 WSS| 580 271 FLRHL EMMS| 1,040 | 155
MB-102 | i+ J1)—>7L>K | GF | 450| 270 | 120 | — HETER EMNK| 1,040 | 155
75~N773U— |WFF| 560| 274 Jz)—Fz FEL | 1,040 | 155
HI452 WSS| 580 271 TE/|NET HMT | 1,040| 155
MB-105 |/MNRERHE J1)—>7L>K | GF | 580| 270 | 120 | — = KNA| 1,040 | 155
75NX7731)— |WFF| 640| 274 MB-262 | #gk AB+E EMKT| 1,150 | 151 | 120 |AB
P85 WSS| 680/ 271 LKA EMMS| 1,150 | 151
MB-118 | F—Jv 7597 H-F>K |FLA|1,230| 269 | 60 |— HETER EMNK| 1,150 | 151
Z505 SOl | 1,230 | 268 Jz)—Fz FEL | 1,150 | 151
SHDHENELSL | UMI| 1,230 | 267 TE/|NET HMT | 1,150 | 151
TSNT 73— |WFF|1,250 | 274 = KNA|1,150 | 151
#5852 WSS| 1,260 | 271 MB-264 | £F%k AB+E EMKT| 1,400 | 148 | 100 |AB
MB-142 | /Igk 75~N773— |WFF|1,250| 274 | 120 | — FLRHL EMMS| 1,400 | 148
#5852 WSS| 1,260 | 271 HETER EMNK| 1,400 | 148
MB-144 | £Rsk 75~N773— |WFF|1,390| 274 | 120 | — Jz)—Fz FEL | 1,400 | 148
#5452 WSS| 1,400 | 271 TE/INET HMT | 1,400 | 148
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